ATOMIC ENERGY CENTRAL SCHOOL NO-4, RAWATBHATA
PERIODIC TEST- Il (2018-19)

MM-40 CLASS-VIII, English TIME- 1.5 HOURS
1. How did the doe save Penny’s life? 2M
2. Why did Penny Baxter allow Jody to go find the fawn and raise it? 2M
3. What is the scientist’s message for the disabled? 2M
4. What does Stephen Hawking find most annoying? 2M
5. What appeal did the duck make before the kangaroo? 2M
6. What, according to you, makes the two adversaries turn into good friends in
a matter of minutes? 2M
7. Why did Framton rush out wildly? 2M
8. What had happened in the Sappleton family as narrated by the niece? 2M
9. Is fighting the only way of resolving differences of opinion? What else can
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be done to reach a mutually acceptable settlement? 2+2=4
Write a letter to the Editor of ‘The Times of India’ complaining about the
nuisance created by the use of loudspeakers as your exams are on head. You
are Preeti/Prem, a resident of Sector-101, Mahalaxmi Enclave, New Delhi.

10M
Here are some questions in direct speech. Put them into reported speech.
AM
A. Penny said,”Do you really want it son?”
B. Mill-wheel said,”Will he ride back with me?
C. Hesaid to Mill-wheel,”Do you think the fawn is still there?”
D. He asked Mill-wheel,”Will you help me find him?”
Use the appropriate forms of the words given in the bracket. 4M

A, Imeta............. from an antique land. (travel)

B. Ineedspecial ............ in maths. (guide)

C. The meeting was............ by the Principal. (chair)
D. [lwishithadbeena............ match. (draw)

Make one meaningful sentence using Present Simple and Past Simple

tense. (one sentence for each tense) 2M




Atomic Energy Central School No.4 Rawatbhata
Periodic TEST-11 (2018-19)
Time-1:30 hours Class: VIII, Social Science Max Marks — 40

General Instructions.
All questions are compulsory.

Write neat and clean.

Attach map inside your answer book.

(1) tick the correct answer (1)

(@) silican valley is locted in

(i) Bengaluru (if)California (ili)Ahmadabad

(b) Which one of the following is a natural fibre ? (1)
(i) Nylon (ii) jute (i) Acrylic

© Fill in the blanks; 1)
(1) Tipu,s sword was made of ................... steel.

(2) What is the Role of the Judge ? (3)
(3) List two reasons why adivasis are becoming increasingly marginalized. (3)
(4) Why are people considered a resource? (3)

(5) What problems did the Indian textile industry face in the early years of its
developments? (3)

(6) Why did Mahatma Gandhi think that English education had unslaved Indians?  (5)

(7) What is meant by population composition explain? (5)
(8) Distinguish between public sector and joint sector industry. (5)
(9) Explain briefly what is fair trial? (5)
(10) On an outline map of world mark the following. (5)

(i) Brazil, Australia, Russia, Germany, South Africa.




Atomic Energy Central School No 4, Rawatbahata

Time — 1% Hours Class VIII (Maths) M.M — 40 Marks
1. Write any two examples of 3-dimensional figures along with their shape. 1 Mark
2. Find the value of  12.1°—7.9% (using identity). 1 Mark
3. Find the ratio of 50 paise to Rs 5. 1 Mark

4. If Chameli had Rs 600 left after spending 75% of her money, how much did she have in

have beginning? 2 Marks
5. Show the position of 4x and 4x + 5 on the number line. 2 Marks
6. Is a square prism same as a cube? Explain. 2 Marks

7. A shopkeeper purchased 200 bulbs for Rs 10 each. However 5 bulbs were fused and had
to be thrown away. The remaining were sold at Rs 12 each. Find the gain or loss %. 3 Marks

8. | purchased a hair-dryer for Rs 5400 including 8 % GST. Find the price before GST 3 Marks
9.Subtract 3a(a+b+c)—2b(a—-b+c)from 4c(-a+b+c) 3 Marks
10. Show that (4pq +3q)*- (4pq - 39)° = 48pq” 3 Marks
11. Draw the front view, side view and top view of the following objects
(i) A military tent (ii) A hexagonal block 3 Marks
12. The population of a city was 20000 in the year 1997. It increased at the rate of 5% p.a.
Find the population at the end of the year 2000. 4 Marks

13. Find the amount and the compound interest on Rs 10000 for 1%, years at 10% per
annum, compounded half yearly. Would this interest be more than the interest he would
get if it was compounded annually? 4 Marks

14. (i) Simplify (a + b) (2a-3b +c) — (2a-3b)c 2 Marks
(ii) Simplify and evaluate as directed
3y(2y-7)—-3(y-4)—-63fory=-2 2 Marks

15. (a) Simplify (m*>=n’m?) + 2 m?n® (b) Find using identities 10.5X 9.5 2+ 2 Marks




ATOMIC ENERGY CENTRAL SCHOOL NO. 4, RAWATBHATA
PERIODIC TEST-II (2018-19)

MM-40 CLASS-VIII, SCIENCE TIME-1 % hr

I. Multiple choice type questions. (1x5=5)
Q.1. Sex chromosomes in females are of
a) XX b) XY c)YY d) None of these
Q.2. The ratio of force and the area on which it acts is called
a) Velocity b) Pressure c) Friction d) Gravity
Q.3. The frictional force exerted by fluids is called
a) Drag b) Steropsis  c) Friction only d) None of these
Q.4. Which of the following musical instruments is different from others?
a) Veena b) Guitar c) Flute d) Sitar
Q.5. A weak current can be detected by replacing an electric bulb in an electric tester with
a) LED b) tester with magnetic compass c) both (a) & (b) d) None of these
Q.6. Write the full form of AIDS. (am)
Q.7. Why is the Sewing machine often oiled? am)
Q.8. Which sounds are called noise? am).
Q.9. Define electroplating. (1IMm)
Q.10. when we touch a charged object with our hand, the charges get transferred to ground through our body.
Name the process. am)
Q.11. Two forces F1 & F2 are acting on a body in opposite directions & the net force acting on the body is
75N. Calculate the value of F1 if F2=250N? (2M)
Q.12. A large drum makes loud sound than a small drum upon beating. Explain why? (2M)

Q.13. Enlist any two changes which can be observed when electric current is passed through a conducting

solution. (2M)
Q.14. Why we should not carry an umbrella during a thunderstorm? (2M)
Q.15. What is the application of Muscular force?  (Any 3 points) (3M)
Q.16.Why friction is called a necessary evil?Write any 2 advantages & disadvantages of friction respectively.(3
Q.17. What makes chromium a metal of choice for electroplating?( Any three) (3M)
Q.18. Explain the structure of a Seismograph with the help of a labelled diagram. (3M)

Q.19.(a) Describe with the help of an activity to show that liquids exerts equal pressure at the same depth.(5m)
(b) A camel can walk easily on sand but we humans cannot. Explain why.

Q.20. (a) Write any two applications of ultrasonic sounds. (5m)

(b) what determines the pitch of a sound? Also explain why a drum makes a low pitch sound than a whistle?

(c) Write any two measures to control noise pollution.

M)
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Ikjek.kq AtkZ dsUnzh; folky; @0 4 Traaeer

firh; vkof/kd ijh{kk I= 2018&19

le; 1?kaVk30feuV  d{kk&8 fo’k; fgUnh iw.kkZad% 40

1-funsZ’k ds vuqlkj iz’uksa ds mRrj nhft,&
VadV2 "bZzzz* rFkk Adkj* izR;; Is cuus okys nks&nks ‘kCn fyf[k,A 2
Ya[k%2 uhps nh xbZ iafDr esa dkSulk vyadkj gS vkSj D;ksa\ 2
MIkkuh ijkr dks gkFk Ng;ks ufga] uSuu ds ty lksa ix /kks,A**
Vax"2 milxZ;qDr nks ‘kCn NK;jfV,& 2
Ikbfdy pykus esa efgyk,j fo'’ks’k vkuan vugHko djrh gSaA
ifg;k izxfr dk izrhd gSA
Y4?kY2 eqgkojksa dk okD; esa iz;ksx dhft,& 2
fryfeyk mBuk] xgLlk ihukA
Y43%> eqgkojksa ds vFKZ fyflk,& 2
gkFk /kksuk] vki[kksa Is vks>y gksukA
2-fuEufyflkr xn~;ka’k dks i<+dj uhps fn, X, iz’'uksa ds Igh mzkj fyf[k,& 5
,d efgyk us crk;k&yksxksa ds fy, ;g le>uk cM+k dfBu gS fd
xzkeh.k efgykvksa ds fy, ;g fdruh cM+h pht gSA muds fy, rks ;g
gokbZ tgkt mM+kus tSIh miyfC/k gSA yksx bl ij gijl Idrs gSa ysfdu
dsoy ;gkj dh vkSjrsa gh le> Idrh gSa fd muds fy, ;g fdruk
egRoiw.kZ gSA tks iq:’k bldk fojks/k djrs gSa] os tk,j vkSj Vgysa
D;ksafd tc Ikbfdy pykus dh ckr vkrh gS]
os efgykvksa dh cjkcjh dj gh ugha ldrsA
Yud% ikB vkSj ys[kd dk uke fyf[k,A
Ya[kY2 xkjo dh efgykvksa dh Ikbfdy dh rqyuk fdlls dh xbZ gS\
YaxY2 yksx efgykvksa ij D;ksa gijlrs Fks\

Va?K'2 iq:"kksa ds ckjs esa efgykvksa ds D;k fopkj gSa\




Y3y, efgykvksa dks vius vki ij fdl ckr dk xoZ gS\
3-fuEufyflkr dkO~;ka’k dks i<dj uhps fn, X, izZuksa ds Igh mzkj fyf[k,& 5
vkxs puk xqg:ekrq n, rs]y, rge pkfc gesa ugha nhusA
L;ke dg~;ks eqldku Ignkek Iks] pksjh dh cku esa gkSa tw izohusAA
iksVfj dkj[k esa pkifi jgs rge] [kksyr ukfga lg/kk j| HKhusaA

ikfNfy ckfu vtkS u rtks rqe] rSlbZ HkkHkh ds narqy dhUgsAA

(d) dfo vkSj dfork dk uke fyf[k,A

(k) xq:ekrk ds fn, pus dk Ignkek us D;k fd;k\

(x) d”.k us eqldjkdj Ignkek Is D;k dgk\

(?k) HkkHkh us d*”.k ds fy, D;k Hkstk Fkk\

Y3,HkkHkh fdls dgk x;k gS\

4-fuEufyflkr iz’'uksa esa Is fdUgh pkj iz’uksa ds mzkj nhft,A 12
d) Mc fQYe fdls dgrs gSa\blesa dHkh&dHkh vfHkusrk ds eqig [kksyus VkSj
vkokt+ esa vUrj D;ksa vk tkrk gS\

(k) Ikbfdy &vkUnksayu Is igMqdksV~VbZ dh efgykvksa ds thou esa dkSu&dkSu Is
cnyko vk, gSa\

(x) bl Hksn dks esjs flok; esjk bZ’0j gh tkurk gSA vki mlh Is iwN yhft,A eSa
ugha crkssjxkA fcyoklh th us ;g ckr fdlls vkSj D;ksa dgh\

(?k) igyh cksyrh fQYe ds fuekZrk funsZ’kd dkSu Fks\mUgsa ukSdjh Is D;ksa gVk fn;k
X;Kk Fkk\

Y35 1kfjdk Is [kkyh gkFk ykSVrs le; Ignkek D;k&D;k Iksp jgs Fks\
5- xjhc fe=ds ?kj vkus vki mlds IkFk dSlk O;ogkj djsaxs\ 3
6-- fuEufyf[kr iz’uksa esa Is fdUgh ikjp iz’uksa ds mzkj nhft,A 5

(d) jktk jkeeksgu jk; ds O;fDrRo dh dksbZ fo’ks’krk crkb,A

(k) fczfV’k ikfyZ;kesaV us bZLV bafM;k daiuh Is ns’k dks vius
gkFk esa D;ksa ys fy;k\

Yax"/2 us’kuy dkaaxzsl dh LFkkiuk dc ggbZ Fkh\




Va?K2 MdSfiVs'ku pktZ* D;k Fkk\

Y3Y, vdcj ds firk dk uke D;k Fkk\

(p) efyd eksgEen tk;Ih us dkSu&ls egkdkO; dh jpuk dh\




